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I Revisiting 2nd clause in mwn -
a  Men: have status of nm Y»a (because the women observe all D7 as 1T1) =»are 19»3 HNNN 219VN RNVN
b Meaning: of 195v3 pnnn 10Vn
i Cannot mean: that if there were a number of mats underneath him that they are all p'xnv — that is obvious
ii ~ Must mean: the pnnnn (0770) of a NT Y1 is equated to the 179y (e.g. garment) of a ar
1 Just as: the ar Yv 1YY is only ®non food/drink, not n*131; same with nT1 Y12 V1N
iii  Premise: 21 Y9 119y is RNON — v. 1; yYnnn must mean “something which the ar is under” (arn ©717T1 covered in v. 2)
1 Therefore: the text “moved” it away from v to establish a lighter nkmo — only foods, not people or garments
2 Counter: perhaps the text only moved it from nTR=>10>11 to TR OR ™2
(a) Answer: Rnw (v. 1) implies the lightest form of nxmv
iv  Source: for nT1 Y»11 only being &non food/drink —xn’»2 expounding v. 3
1 »op a7 oAy could mean that he “joins” her count (e.g. if they had n&’a on her 7* day, he’d be on his 7" day)
(a) Therefore: it states D’ nyaw ®NVY — a full seven from the time of nx’a
(b) »5y an2 oanr gives him equal “infectious power” to N — he is XnYn people and vIN 79
(c) However: Rnv>...20wnN Y21 (unnecessary; nT already has D11 nrnV) — moves it to NYp kML (only food/drink)
(i) Challenge (?n& "7): perhaps it only moved it to DT8R and oma (but not DTR->111)
(if) Answer (’or 77): RV (v. 3) implies “light” nrmv
2 Challenge: why not read v. 3 as 573 (20w 20w DR) & V19 (¥9Y ANT1 *NM) = as N1 — only 2wV 25WN (per ...20VNN K1)
(a) Answerl (728): D0’ NP1V RNV interrupts — makes 595 and V18 with gap — no rule of V1M Y92
(b) Answer2 (827): we do use V191 Y93 with gap; but 521 extends his nkmv to include yin
(i) Challenge: why not equate him to her (%Y nnm >nm)
1. Just as: she has one rule for yan and awim 15vn (both can be TR ®nNVN DDr133)
2. So too: same with him — both should be lenient
3. Answer (827): "5y” implies a stringency
II  Status of all »'m2 as mm w1 - limited to married om>
III  Examination of reasoning — ’m> women observe all o7
a  Question: isn’t that a more stringent position?
b Answer: they see “red” and have it complete 7 days begun with “off-color” (e.g. green)
i Inaddition: as mar, they count day of nnv poan as first day of n»p
ii ~ Challenge: why don’t we do that — after all, we hold 15125 pyn nxpn
1 Answer (¥37): then " would never cancel its own day (for ar counting n»p1 '1) — we would employ 19133 DV nx¥pn
2 Block: perhaps pyoa is only referring to a case where he saw 1w at end of day: if earlier, we would employ n¥pn...
iii  Related question (727): if a woman is 1"w nv”a (while counting 0”1 1) does that interrupt her count?
1 Clarification: is she considered n®11 — and it cancels; or nya, and it doesn’t (as if she touched y7v)
2 block (837): can’t work; if cancelling all 7; can’t be more than her Y»1; if 1 — v. 4 implies that she may have no nxmv
3 Defense: how does it cancel (that day) for ar — he needs no nkmv in the middle of his n»p)
(a) Rather: in both cases, the requirement is not to have N1 nkmMY interrupting (XN 91 'n7’s question remains)
IV Analysis of final clause — no liability for wTpn nx>a for contact with o>
a  Story: 9”1 met YR1W "1 in 81N, he challenged our nmwn with ruling that we do burn nm n for contact with parn oy »ma
i 9”1 resolved — our mwn is referring to 9an »m>
ii ~ Challenge: how can we consider a 9an *m> to be n H»a?
1 Rather: must be 1"y 'm2 who was 7210 in our presence, walked on 9an »13, which then touched nman
(a) No consideration: of "y 12 (he was Y210 in our presence)
(b) Mild consideration: of nT1 Y»11; perhaps he was Y1 a while ago; even if recently, perhaps she didn’t count pyy
(i) Therefore: Rp»av pav — for which we do not burn nmn
(ii) Challenge: why not have it be burned due to n”y »ma (which are considered n'w11a% v110)?
(iii) Answer: case could be where he remained naked after mpn
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